Assignment 4 Solution
1. Caesar Cipher

  k = 20

 
  C = E(P + k) mod (26), 


  C = Cipher Text, 


  P = Plain Text


  k = shift


  “I am sending a secret message”


  i ( (8 + 20) mod 26 = 2 = c


  a( (0 + 20) mod 26 = 20 = u

 m( (12 + 20) mod 26 = 6 = g


  c ug myhxcha u mywlyn gymmuay
2. HPHTWWXPPELEXTOYTRSE

 
 For K = 11 we get the following solution


 WEWILLMEETATMIDNIGHT

      Cross checking:

       W = 22

       C = E(P+k)mod 26 = (22 + 11) mod 26


      = 33 mod 26


      = 7 = H

3.  Hill Cipher


  Encrypt = “meet me at the usual place at then rather than eight oclock”


  K = [9 4]


         [5 7]


  m = 2


  c1  = (k00.p1 + k01.p2) mod 26


  c2  = (k10.p1 + k11.p2) mod 26


  m = 12 e = 4

 
  [(9*12) + (4 * 4) ]mod 26 = 20 ( u


  [(5*12) + (7 * 4) ]mod 26 = 10 ( k
       e = 4 t = 19

       [(9*4) + (4 * 19) ]mod 26 = 8  ( i


  [(5*4) + (7 * 19) ]mod 26 = 23 ( x     ……and so on

       Final Cipher Text : ukixukydromeiwszxwiokunubldcydblvklidpseimegzxgc
4. K = royal new zealand navy 


      [ R O Y A L  ]


 [ N E W Z D ] 


 [ V B C F G  ]

      [ H I/J K M P]

      [ Q S T U X  ]

KX = PT

JE  = BO

YU = AT RE = ON BE = EO ZW = WE EH = NI/J EW = NE RY = LO TU = ST HE = I/JN YF = AC SK = TI/J RE = ON HE = I/JN GO = BL YF = AC IW = KE TT = TT TU = ST OL = RA KS = I/J T YC = TW AJ = OM PO = I/J L BO = ES TE = SW IZ = ME ON = RE TX = SU BY = CO BW = VE TG = XC ON = RE EY = WO CU = FT ZW = WE RG = LV DS = EX ON = RE SX = QU BO = ES UY = TA WR = NY HE = I/J N BA = FO AH = RM YU = AT SE = I/J O DQ = NX
Message : PTBOATONEOWENINELOSTINACTIONINBLACKETTSTRAITTWOMILESSWMERESUCOVEXCREWOFTWELVEXREQUESTANYINFORMATIONX

5. Vigenere Cipher

(i) P = sendmoremoney

            K = 9 0 1 7 23 15 21 14 11 11 2 8 9 


       C = BEOKJDMSXZPMH

(ii) C = BEOKJDMSXZPMH


       P = cashnotneeded

  

       Referring to the Vignere Table we get :

                               K = 25  4 22 3 22 15 19 5 14 21 13 8 4
